
2V3sin5x - V3sinx = cos24x*cosx + 2cos5x - 6
2V3sin5x-2cos5x=V3sinx+cos24x*cosx-6
V16(sin5x*2V3/V16-cos5x*2/V16)=V(3+cos^2 24x)(sinx*V(3/(3+cos^2 24x))+(cosx*cos24x/V(3+cos^2 24x))-6
cos a = 2V3/V16=2V3/4=V3/2
sin a = 2/V16=2/4=½
a=P/6
cos b = V(3/(3+cos^2 24x))
sin b=cos24x/V(3+cos^2 24x)
V16(sin5x*cosa-cos5x*sina)=V(3+cos^2 24x)(sinx*cos b+cosx*sin b)-6
4(sin(5x-P/6))=V(3+cos^2 24x)(sin(x+b))-6
max(4(sin(5x-a)))=4
max(V(3+cos^2 24x)(sin(x+b))-6)=-4
min(4(sin(5x-a)))=-4
min(V(3+cos^2 24x)(sin(x+b))-6)=-8
4sin((5x-P/6)=-4
5x-P/6=3P/2+2PK
5x=3P/2+P/6+2PK
5x=10P/6+2PK
x=2P/6+2PK/5
x=P/3+2PK/5
x1=p/3+2pk cos24(P/3+2PK)*cos(P/3+2PK) + V3sin(5P/3+2PK) - 6=1*½-V3*V3/2-6!=½-3/2-6=-7
x2=11p/15+2pk cos24(11p/15+2PK)*cos(11p/15+2PK) + Vcos(11p/15+2PK) - 6=cos(88pi/5)*cos(11pi/15)+V3sin(11pi/15)-6=
x3=17p/15+2pk
x4=23p/15 +2pk
x5=29p/15+2pk


